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QUESTION 1

An MSM administrator creates an access-controlled VSC, which is not the default VSC, on a standalone MSM
Controller The controller should implement DHCP relay on this VSC; clients will receive IP addresses from an external
DHCP server The DHCP scope for the clients uses 192.168.1.0/24 and sets the default gateway to 192.168.1.1. The
192.168.1.0/24 subnet is reserved for the wireless clients and does not exist in the LAN.

Which requirement applies to this scenario?

A. The guests must log into a web page hosted on an external server to authenticate on this VSC.

B. The 192.168.1.0/24 subnet must be configured on the controllers LAN port.

C. The DHCP server, or its default gateway, needs a route to 192.168.1.0/24 through the MSM Controller.

D. The APs that support this VSC must receive IP addresses from the same DHCP server as the clients.

Correct Answer: A

QUESTION 2

Which type of 802.11 wireless network provides direct peer-to-peer connection between wireless stations?
A. Infrastructure network

B. Ad hoc networkong

C. In-cell relay networking

D. Wireless distribution system

Correct Answer: B

QUESTION 3

Which cell plan is designed property to minimize interference and enable seamless roaming?
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B. Exhibit B
C. Exhibit C

D. Exhibit D
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Correct Answer: B

QUESTION 4

Refer to the exhibit.

{ -—
R 1

The exhibit shows a VSC setting that is disabled. A network administrator is creating an access- controlled VSC for
guest access. Which use case does disabling this setting impact?

A. The company has central RADIUS servers and web servers, which it wants to use to authenticate guests.
B. The controller is part of a teaming solution.

C. Guests need to log into the controller\\'s local pages to receive access to any resources.

D. Guests need to receive access to resources on their local subnet before authenticating.

Correct Answer: D

QUESTION 5
Refer to the exhibit.
Wireless local mesh

AP 1 BB Ethernet
= Site A MSM Controller

o

AP 2

) (@)

, Site B
AR3 . Ethernet

A network administrator needs to configure a local mesh between the three APs shown in the exhibit. The network
administrator configured AP1 for the master role. What are valid roles for AP 2 and AP 37?

A. 2 = Alternate Master; 3 - Slave

B. 2 = Slave; 3 = Alternate Master
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C. 2 = Slave; 3 = Master
D. 2 = Slave; 3 = Slave

Correct Answer: C
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